DNA structure


Questions   (To answer these questions, you will need to use the Watson & Crick paper (Nature, April 25, 1953), which is available under Web Sites.)








1.	What are the fundamental differences between the structural model proposed 	by 	Pauling and Corey and the model suggested by Watson and Crick?























2.	How are the two chains of the helical structure held together?























3.	Why would the Watson and Crick model be impossible to build with a ribose 	sugar?


